





1!

H

(i

thy 2k, -h
b =y, thy
oy s 7
L by

[ -'( O E \_/\’g_,l
O l -—«( K }n’;!
C c | E} lk_)}“f



|

1R

@ ¢oA



@@@M: F: 5{”3; + &“n “‘”HH

Sm\%}fﬁrv&ﬁ‘f
?: 5 (S%\ * ib i (S”’ *3‘3% )50 B [Qw\ f%‘?—“ 4267'7— *3‘5‘%\ + S‘J

= 533\ }354 S JrS‘}) *Sﬂ ~Sun - 9% s _353) ﬁi{ h

[z ~Su 3% T FIn 9%



anD’HwQ/( W\&%OGQ{;
?: glﬂg‘ * \A'L”- -_}-’Mm
)_JLJ(\S ‘\Qui( MAKs I~ )Q)L}go(ﬁrafLic 0 cder” !
F: —‘“iul _{—L?i +3L%1
Sﬂmce, T = L= Bl +ho. + Lha ~hy
b= S + Yy "han — Dby thy

S‘U\\Oﬁ)ﬁ\ babe o L
F: ’(§ii“ + %L‘zu B !n'“- ‘Z}/"H _(—l\‘f) " Lll 431,]2'
= "‘Smr - %\f‘v_u *Z\M;;L + 51"31 - L‘“‘ '

e 7o



NON Wae }ook qf)w AN S/{w/ \9@&635 Cf?m[ou‘m(ﬁ Q '}LQ/VV\
Nau -

!:: 'Sim - 5(51\l Thaa *L l’\“l) +2L7,L *51‘\31 -
N

57_1_ - L’Ll __LH
N \f\fm, = San 'k/\"?‘ '
< pshtule inbo BB S =35, ~ (5w o )+ 2 ¥ 2y

E = “5“ 1“ S’}‘L \’1’51 + Q\L\



{on

Sibshhde nke e
j:; “Sim *33111 =Dy T Sg] *Lug -LZL\;( .
= ‘“S;m — ‘3574\ ~ S, t 5‘;} 4 gb»\ .

su\%\n}b}& }f\\’b ;
F - =Su =95 ~Sa FS55 ¥ BSLI "



